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Why is a liquid a liquid?

1. When you melt an icnic substance what type of bond do you break? o g@;, :
When you melt a network covalent bond what type of bond do you break? @@mﬁ@@i ?
3. When you melt a molecular solid what type of bond do you bre '

ak? o ‘ i |
inveor nsdacudo Bonds (ni)
“’m“{r@M@% cudar o :

N

el | ey potecudar bonds(reras)
(M ey [ |

4. Label the type of force above (intg_rmolecuEar/intramolecular)

5 What is the difference between an intermolecular force and an intramolecular force?
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student hypothesis: A substance is a solid at room temperature because molecules stick
tpggthe{. They reason they stick together is they really like each other. Justify or nullify?
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7. What is the only reason two molecules would stick together?
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8. What is needed for a hydrogen bond o accur? s ,
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9. What is needed for London dispersion force to occur? A ‘
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10. Indicate the type of force that is causing the substance 1o be a so[id/liquid orgas? Order fchem
from highest to lowest melting point.
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Name

Phase Diagram Workshest

Hour

gaﬁh of i‘ﬁe qneeﬁefr‘ < o s workshest, refer o fhe phase diageam for
e M

Plhypss dingremn for mysleriuls camnamnd £
i T T & :

- T het | Labet the meliing curve, boiling
° ' by, AN curve and sublimation curve.
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fyou were to have a bottle containing compound x, what phase would it most likely be m?
om temp is 21 degrees C, pressure=1 atm) ga,s

At what temperature and pressure will all three phases coexist {triple point)?
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ave a bottle of compound X at a pressure of 45 atm and temp rature of 100 degrees C what will happen If raise
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